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Rather it can be fulfilled by a - 7297 132 8 72193 733 21p WK 'RINR
son of a divorcee or a son of a Chalootzoh

Overview

The X713, in its response to 7MY ", states that (even) by 1"V (where °"9 agrees that
T2 R obwn) we can still fulfill the punishment of mpYn in a case where they
testified that someone is a %> (a 7%1%mM 7wWIA 12), where the 1"V receive Mpon. Our
Moo discusses this assumption.

ndoIN asks:
- 2125709 9199 NAN PRY MTY MP KD AYWIIN 127 MTYX 1Y INNPN 9NN ON)

And if you will say; why are they flogged for the testimony of a 72193 32, since
it is a testimony which cannot be impeached —

N1B0IN answers:
- 219907 HY PPN RIR 1125TAY 9195 AAN PRY MTY 2PUN KT 9115 U

And one can say; that it is not considered an 7%°17% 9127 70X PR M7V, only in

a case where 07y are testifying regarding a m9°9%; in which case the m7v is not

accepted -
- S501Y 13 K0P XI2XT *MPYna X9 NNvNa RY 937 DIVA PPY TYON INT

Since it is completely impossible to fulfill the ruling of onr qwx> % on°w, neither

by killing them or flogging them, for the 7"V intended to kill a dead man -
$IPYN NPT NNNPNI NN YaN

However here by 7731717 121 70173 12 the 217 was fulfilled by giving them npb.

Summary

"' In our X7 the text reads TWOR QMWW BITY KOR (instead of TwoR XHR).
* The testimony of witnesses cannot be accepted unless it is a testimony which can be impeached (through the st
process) and 7"°2 can implement the punishment of on71 2wWR> 12 an>wy [This may prevent the 07y from testifying
falsely]. However here by the testimony of 72173 13, since we cannot implement the ont WX (we cannot make the
1"V into 0°9%n), it is not a valid testimony, so why should the 1"v receive mp%». Similarly, if there was no 7117 the 772
should not become a 9%m, since it is an 72°T12 212> 7R XY MTY.
? A 9u is someone who has a disease or sickness from which he will surely die within the year. If 07 testified
about a 771970 that he killed someone; that testimony is not accepted, because it is an 712°772 212 X"Rw M7y,
* See “Thinking it over’.
> Since the accused is a 9™, it is as if they are testifying that a dead man killed someone; therefore, they cannot
receive any punishment since we consider it as if they are not testifying to hurt or damage someone. In such a case
their testimony is not accepted (the 7971 will not be punished for the alleged murder [even if there is no fnri]), for
since it is an 72°17% 212° R"XWw M7 we do not accept their testimony, since the 0>7¥ are not afraid to lie, for they know
they will not be punished.
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An 7101777 9120 XKW M7V is only if they will receive no punishment at all.

Thinking it over
moon writes that if they testified regarding a 719w, the 1"V will receive no

punishment, neither i1 nor mpn.° Why do they not receive mpn for transgressing
the W% of pw 7¥ 7v12 mwvn XY (just as they receive Mmpon for testifying that he is a
Som2!

® See footnote # 4.
7 See footnote # 5.
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